# Government eProcurement System

## eProcurement System Government of India

**Tender Details** 

# Prin

Date: 02-Jan-2025 12:55 PM

Basic Details			⊜ Print
Organisation Chain	Department of Agricultural R Research,DoARE,MoA  CIRB-	esearch and Education  Indian Council of	f Agricultural
Tender Reference Number	Creation of Biosensor custom	nized development and testing Lab at CIR	RB, Hisar
Tender ID	2025_DARE_842388_1	Withdrawal Allowed	Yes
Tender Type	Open Tender	Form of contract	Works
Tender Category	Works	No. of Covers	2
General Technical Evaluation Allowed	No	ItemWise Technical Evaluation Allowed	No
Payment Mode	Offline	Is Multi Currency Allowed For BOQ	No
Is Multi Currency Allowed For Fee	No	Allow Two Stage Bidding	No

Offline	S.No	Instrument Type	
	1	Bank Guarantee	
	2	Demand Draft	
	3	R-T-G-S	
	4	FDR	
	5	NEFT	

Cover	Details, No. Of Co.	vers - 2	
Cover No	Cover	Document Type	Description
1	Fee/PreQual/Technical	.pdf	Please see the pdf file
2	Finance	.xls	Please see the BOQ file

Tender Fee De	tails, [To	otal Fee in ₹ * - 0	.00]	EMD Fee Details	S		
Tender Fee in ₹	0.00			EMD Amount in ₹	70,000	EMD Exemption	No
Fee Payable To	Nil	Fee Payable At	Nil		, 0,000	Allowed	INO
Tender Fee	No			EMD Fee Type	fixed	EMD Percentage	NA
Exemption Allowed				EMD Payable To	Director, CIRB	EMD Payable At	Hisar

Click to view modification history

Title	Creation of Bioser	ation of Biosensor customized development and testing Lab at CIRB, Hisar				
Work Description		eation of Biosensor customized development and testing Lab at CIRB, Hisar ease refer Tender documents.				
Pre Qualification Details						
Independent External Monitor/Remarks	NA					
		res .				
Show Tender Value in Public Domain	Yes					
Public Domain	Yes 23,16,066	Product Category	Civil Works - Others	Sub category	NA	
		Product Category  Bid Validity(Days)	100 510 50 110 00 00 00 00			

Govern Road, Histor			and the second state of the second	
Pre Sid Meeting cure Anent	Pre Bid Meeting Date	NA	Bid Opening Place	ICAR-CIRB, Sirsa Road, Hisar
Should Allow NDA	Allow Preferential Bidder	No		

Critical Dates			
Publish Date	02-Jan-2025 01:00 PM	Bid Opening Date	24-Jan-2025 03:00 PM
Document Download / Sale Start Date	02-Jan-2025 01:00 PM	Document Download / Sale End Date	22-Jan-2025 02:30 PM
Clarification Start Date	NA	Clarification End Date	NA
Bid Submission Start Date	02-Jan-2025 01:00 PM	Bid Submission End Date	22-Jan-2025 02:30 PM

NIT Document	S.No Document Name			Description		Document Size (in KB)	
	1	Tendernotice_1.pdf		Please see the p	odf file	497.57	
Work Item Documents	S.No	Document Type	Documer	nt Name	Description	Document Size (in KB)	
	1	BOQ	BOO 8854	72 xls	Please see the BOQ file	286.50	

Bid Ope	eners List		
S.No	Bid Opener Login Id	Bid Opener Name	Certificate Name
1.	auditcirb@gmail.com	Girdhari Lal	GIRDHARI LAL
2.	cirbashok@gmail.com	Ashok Kumar	Ashok Kumar
3.	majidcirb@gmail.com	Abdul Majid	ABDUL MAJID

Auto Tendering Process allowed	No	Show Technical bid status	Yes
Show Finance bid status	Yes	Stage to disclose Bid Details in Public Domain	Technical Bid Opening
BoQ Comparative Chart model	Normal	BoQ Compartive chart decimal places	2
BoQ Comparative Chart Rank Type	L	Form Based BoQ	No

### TIA Undertaking

S.No	Undertaking to Order	Tender complying with Order	Reason for non compliance of Order
1	PPP-MII Order 2017	Agree	
2	MSEs Order 2012	Agree	

Tender Invit	ing Authority	
Name	Director, CIRB	
Address	Director, Central Institute for Research on Buffaloes, Sirsa Road, Hisar	

Tender Creator Details					
Created By	Girdhari Lal				

Designation overn AACent	I
O2-Jan-2025 11:57 AM	Fig. 19
System	

## ICAR-CENTRAL INSTITUTE FOR RESEARCH ON BUFFALOES SIRSA ROAD, HISAR

Website: https://cirb.icar.gov.in/

FILE NO.1/413/CPS/2024-25

Dated: 01-01-2025

#### **E-TENDER NOTICE**

On line tenders in two bid system i.e. (1) Technical bid (2) Price Bid are invited from eligible bidders/firms/agency/contractors for Creation of Biosensor customized development and testing lab at ICAR-CIRB, Hisar. Bid Submission end Date 22-01-2025 up to 2.30 PM and Date of Opening of technical bids is 24-01-2025 at 3.00 PM. For details, log on to website <a href="https://eprocure.gov.in/eprocure/app">https://eirb.icar.gov.in/</a>. The Tender Id is 2025\_DARE\_842388\_1.

# ICAR-CENTRAL INSTITUTE FOR RESEARCH ON BUFFALOES SIRSA ROAD, HISAR (HARYANA)

F. No. 1/413/CPS/2024-25

Dated: 01-01-2025

Director ICAR-CIRB, Hisar invites online percentage rate e-tenders for the following work from the interested and eligible bidders:-

Name of Work & location	Creation of Biosensor customized development and testing lab at ICAR-CIRB, Hisar as per description mentioned in Annexure -I
Estimate Cost	Rs. 23,16,066/-
Earnest Money	Rs. 70,000/-
Period of Completion	45 days
Last Date & Time of submission of bid & other documents as specified to be uploaded	22-01-2025 up to 2.30 PM
Time & Date of opening of technical bid	24-01-2025 at 3.00 PM
Time & Date of opening of financial bid	After technical evaluation of bids

- Interested eligible bidders are requested to submit their bids through E-procurement portal website
   https://eprocure.gov.in/eprocure/app along with all necessary documents as per terms and conditions
   laid down below. Notice inviting bids is also available on Institutes website https://cirb.icar.gov.in/.
- 2. The enlistment of the contractors should be valid on the last date of submission of bids. In case only the last date of submission of bid is extended, the enlistment of contractor should be valid on original date of submission of bids.
- 3. The bidders have to deposit EMD i.e Rs.70,000/- in the form of DD/BG/FDR in favour of Director, ICAR-CIRB, Hisar at the time of participation in bid. EMD refundable upon completion of work. Bank details given below:

#### **Institute Bank Details:**

Name of A/c Holder's

ICAR-Central Institute for Research on Buffaloes

Sirsa Road, Hisar – 125001 (Haryana)

Name of Bank:

State Bank of India, NGM, Hisar,

Account No .:

10440797010

IFSC Code:

SBIN0005700

- 4. The work is estimated at a cost of Rs. 23,16,066/-. This estimate, however, is given merely as a rough guide.
- 5. The Director, ICAR-CIRB, Hisar reserves the right to accept or reject all or any of the quotation in part or full.
- 6. The purchaser will evaluate and compare the bids which are substantially responsive i.e. which are properly prepared and signed and meet the required terms and conditions, specifications etc. The purchaser will award the contract to the bidder whose bid will be determined to be responsive and offers the best evaluated price.

- 7. Successful quoter/bidder has to deposit 5% amount of the total cost of the inspection and repair work as Performance Security money in the form of DD/BG/FDR in favour of Director, ICAR-CIRB, Hisar etc.
- The payment will be made on completion of satisfactory installation.
  - Bid shall remain valid for acceptance for a period of not less than 90 days after the specified date of opening of the order.
  - The firms on whom the work order is placed with in the period of validity of the offer will be required to execute the works within the time limit given above from the date of issue of the II. work/contract order.. If the bidder fails to deliver any or all of goods/services, the purchaser shall deduct from the contract price as liquidated damages a sum equivalent to 0.5% of the delivery price of the delayed goods for each week of delay. The maximum limit of such deduction will be of 10% of service contract/bid price. Once the maximum is reached the contract will be considered terminated of the contract automatically, if the same have not been terminated already.

## 9. The firms are required to upload copies of the following documents:-

- Registration Certificate of the firm with the appropriate State/local Government.
- Contractor should be registered with CPWD, MES or any other Public Works organization a) b) /undertaking of Govt. of India or State Govt.
- Last two year continuous experience of the firm in the field of providing such services/works in Central Govt. establishments/Autonomous bodies of Govt. of India/Corporations of Govt. c) of India/reputed public or private Govt. of India/Corporations of Govt. of India/reputed public or private organizations. Provide the details in enclosed tabular form.
- Duly certified copies of the satisfactory services where the tenderer is providing the services d) for the last two years.
- EPF registration certificate issued by concerned authority. e)
- ESI registration certificate issued by concerned authority.
- GST registration certificate issued by Govt. etc. without GST No. quotation will be rejected f) g) straight way.
- Scanned copy of proof of EMD submission.
- Bidders are advised to visit the site for physical inspection before quotation their rates. Sites h) can be inspected by the bidders on any working at 11:00 AM onwards during 02-01-2025 to i)
- 10. An undertaking to the effect that firm/supplier/contractor has not been blacklisted/ debarred by any Govt. department/ Public sector undertaking during last 3 years.
- 11. Any dispute/litigation will be subject to Punjab jurisdiction only.
- 12. Bidders are required to submit this original tender enquiry (all the pages) duly stamped and signed on every page for our record. Dealer may submit the authorization letter otherwise quotation will be rejected.

Yours faithfully

-Sd-

Assistant Administrative Officer

#### SCOPE OF WORK

	Repair/Renovation of Molecular Biology Lab of	AGB Division	on at ICAI	R-CIRB, Hi	sar
S.No	Description	Qty	Unit	Rate	Amour
1	C-Frame - Sitting - Size L-705 x H-780 x D-30 mm, made of 60x30mm pipe of 2 mm thickness	1,999.00	34	Nos	67966.0
2	Connecting Set of L-1800 mm for (Sitting height & Standing height numbers will be informed) C Frame Structure	4,500.00	4	Nos	18000.0
3	Connecting Set of L-1500 mm for (Sitting height & Standing height numbers will be informed) C Frame Structure	4,000.00	10	Nos	40000.00
4	Connecting Set of L-1200 mm for (Sitting height & Standing height numbers will be informed) C Frame Structure	3,800.00	5	Nos	19000.00
5	Connecting Set of L-750 mm for (Sitting height & Standing height numbers will be informed) C Frame Structure	5100.00	2	Nos	10200.00
6	Connecting Set of L-600 mm for (Sitting height & Standing height numbers will be informed) C Frame Structure	4,200.00	1	Nos	4200.00
7	Connecting Set of L-850 mm for C Frame Structure	4,400.00	1	Nos	4400.00
8	Storage Size-L-750xD-530xH-635 mm, 1 Drawer + 2 Shutters	13,000.00	16	Nos	208000.0
9	Storage Size-L-600xD-530xH-635 mm, 1 Drawer + 2 Shutters	12,800.00	7	Nos	89600.00
10	Corner Storage Size-L-850+850xD-530xH-635 mm, 1 Shutter	12,000.00	1	Nos	12000.00
11	Leg space - 750 mm with Cross Base (Footrest) + BACK COVER PLATE	7200.00	6	Nos	43200.00
12	Leg space - 600 mm with Cross Base (Footrest) + BACK COVER PLATE	3,500.00	16	Nos	56000.00
13	End Cover panel	1,500.00	16	Nos	24000.00
14	END Cover Sheet Between Wall and Leg space	2,200.00	4	Nos	8800.00
15	Space Filler for Connect Leg Space	900.00	19	Nos	17100.00
16	Single Sided CRCA Electrical Raceway max L- 2000, H-100 x D-85 mm Top/Wall Mounted	4150.00	1	Nos	4150.00
17	Single Sided CRCA Electrical Raceway max L- 1500, H-100 x D-85 mm Top/Wall Mounted	3,600.00	4	Nos	14400.00
18	Electrical Plate 6 Module with 6A and 16A switch socket	950.00	31	Nos	29450.00
19	Regent Shelf 2 Tier, Size L-1500 x D-300 x H-650 mm with Single cut-out both sides	16,600.00	3	Nos	49800.00
20	Regent Shelf 2 Tier, Size L-1200 x D-300 x H- 650 mm with Single cut-out both sides	13,500.00	2	Nos	27000.00
21	Regent Shelf 2 Tier, Size L-1500 x D-150 x H- 650 mm	14,900.00	1	Nos	14900.00
22	Overhood Storage Size-L-600xD-375xH-675 mm, openable shutters with Glass	12,000.00	18	Nos	216000.0
23	Ceiling Tile 2/2 mm thickness	150	1700	Sqft	255000.00
24	Z-Black Granite	350	314	Sqft	109900.00
25	Corrosive Cabinet	55000	1	Nos	55000.00
26	General Cabinet	31000	1	Nos	31000.00
27	Ventilated Cabinet	48000	1	Nos	48000.00
28	Book Shelves (Large Storage Cabinet) Biosensor Lab Workstation with Underbench	12000 17000	1	Nos Nos	12000.00 17000.00
30	Drawer				
00	Analyst Sitting Chair	12000	3	Nos	36000.00

31	3-Seater unit				
22	The state of the s	59000	1	Nos.	59000.00
32	Climate Control Unit	65000	8	Nos	
33	Mineral Fiber Ceiling 759 Sqft		0	INOS	520000.00
	Timeral Free Certing 759 Sqit	250	780	Sqft	195000.00
				Total	2316066.00